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Division Exercises Set 1 
Maximum Expected Time Completion: 15 minutes 

 

Read and understand the problem, then write the correct 
answer in the space provided. 

 

1. There are two apples.     
 
Two friends will share it. 

 
跚跛跜距 How many apples will each one 
have? 
 

 2 ÷ 2 = ____ 
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2. 즹즺즻즼즽즾즿 8 cupcakes are for 4 kids. 
跚跛跜距 How many cupcakes does each 
kid get? 
 

즹즺즻즼즽즾즿 즹즺즻즼즽즾즿 즹즺즻즼즽즾즿 즹즺즻즼즽즾즿 즹즺즻즼즽즾즿 즹즺즻즼즽즾즿 즹즺즻즼즽즾즿 즹즺즻즼즽즾즿 
 

  
 
 

 8 cupcakes ÷ 4 kids = _____ 
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3. There are 9 teddy bears. 

 
 

To be placed on a three-layered shelf. 
 

 
 

How many teddy bears can be placed on each layer of 
shelf? 

 

 9 Teddy bears ÷ 3 shelves = 
_____ 
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4. There are 12 tennis balls. 
 

 
 

They are to be placed in 4 baskets. 
 

 
 

How many balls go in each basket? 
 

 12 Tennis Balls ÷ 4 baskets = 
_____ 
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5. There are four Boy Scouts. 
 

 
 

They are camping. In the camp, there are 2 tents. Each 
tent can accommodate 2 Boy Scouts. 

 

  
 

How many Boy Scouts can stay in a tent? 
 

 4 Boy Scouts ÷ 2 Tents = 
_____ 
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6. 9 bananas are shared among 3 monkeys. 
 

 

 

 

 
 
 

 

 9 Bananas ÷ 3 Monkeys = 
_____ 
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7. A pizza with 8 slices was delivered.  
 
 

 
 

4 people will share it. 
 

 
 

 8 pizza slices ÷ 4 people = 
_____ 
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8. 10 lollipops will be shared… 
 

 

 
 

2 kids will share it. 

 
 

 10 lollipops ÷ 2 kids = _____ 
 



 (M-Div-0001) 

 
 

D
is
cl
ai
m
er
: 

Th
is

 w
or

ks
he

et
 is

 d
is

tr
ib

ut
ed

 fo
r f

re
e 

an
d 

is
 n

ot
 in

te
nd

ed
 to

 m
ea

su
re

 a
 c

hi
ld

's
 s

ki
lls

 o
r i

nt
el

lig
en

ce
. I

t i
s 

de
si

gn
ed

 a
s 

a 
su

pp
le

m
en

ta
ry

 e
xe

rc
is

e 
to

 
su

pp
or

t t
he

 c
hi

ld
's

 le
ar

ni
ng

 a
lo

ng
si

de
 th

e 
ed

uc
at

io
na

l a
ct

iv
iti

es
 th

ey
 re

ce
iv

e 
fr

om
 s

ch
oo

ls
 o

r o
th

er
 in

st
itu

tio
ns

. 

9. 15 balloons are tied into 3 groups 
 

 

 
 

How many balloons are there for 
each group? 

 

 15 balloons ÷ 3 groups = 
_____ 
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10. There are 6 puppies and there are 
6 dog bowls. 

 
 

 
 

How many dog bowls will each puppy have? 
 

 6 puppies ÷ 6 dog bowls = 
_____ 

 


